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Problem quickname: 3302
)
What is the middle of these two numbers?
a) —33 and —27 Answer: %_27 = —30
b) —32 and —28 Answer: M = —30
c) —36 and —15 Answer: % = —25.5
d) —31 and —9 Answer: # = —-20
e) —26 and —18 Answer: w = —22
f) —38 and —28 Answer: M = —33
g) —17 and —8 Answer: # = —12.5 h) 29 and 31 Answer: % =30
i) 29 and 33 Answer: 2233 = 31 j) =35 and —12 Answer: =242 = 235

2)
What is the middle of these two numbers?

a) —40 and —34.8 Answer: M =374
b) 68.1 and 86.7 Answer: w =774

c) —92 and —65.6 Answer: M = —78.8
d) 73.7 and 80.3 Answer: 125803 — 77

e) 1.9 and 78.7 Answer: % =40.3

f) 57.6 and 73.5 Answer: 2L0E135 — 65 55

g) —40.5 and —8.6 Answer: —10-2=80 — 24 55
h) 6.3 and 89.1 Answer: 03484 — 477

i) 60.2 and 83.2 Answer: W =717

i) 28.9 and 61.4 Answer: 2295614 — 45 15

3)
What is the middle of these two numbers?

a) 72.6 and 74.5 Answer: % = 73.55
b) 12.8 and 70.1 Answer: 1285704 — 41 45
c) 28.8 and 31 Answer: 25831 =299 d) 11.9 and 63 Answer: 22503 = 37 45
e) 69.8 and 84.3 Answer: 3985843 — 77 05
f) 33.1 and 99.4 Answer: L42'994 = 606.25
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g) 50 and 51.6 Answer: 2216 = 50.8 h) 9.9 and 78 Answer: 22578 = 43.95

i) 74.3 and 96.7 Answer: % =85.5
j) 20.4 and 97.1 Answer: % = 58.75

4) :
7 Quick:
What is the middle of these two numbers?

a) 9 and 18 Answer: % =13.5 b) 0 and 18 Answer: % =9

c) 0 and 16 Answer: % =38 d) 8 and 11 Answer: % =9.5

e) 4 and 12 Answer: 4512 =8 f) 10 and 15 Answer: 1912 =125

g) 6 and 18 Answer: % =12 h) 5 and 8 Answer: % = 6.5

i) 13 and 17 Answer: % =15 j) 9 and 13 Answer: 9213 =11

Good Luck!
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